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Square in a triangle (त्रिभुज में वर्ग):
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In the given figure, in a right angle 
triangle 𝑨𝑩𝑪, 𝑨𝑩 = 𝟏𝟐𝒄𝒎 and 𝑨𝑪 =
𝟏𝟓 𝒄𝒎 . A square is inscribed in the 
triangle. One of the vertices of square 
coincides with the vertex of triangle. 
What is the maximum possible area of 
the square?
दी गई आकृति में एक समकोण त्रिभजु
ABC में, 𝑨𝑩 = 𝟏𝟐𝒄𝒎 िथा 𝑨𝑪 = 𝟏𝟓 𝒄𝒎 है
त्रिभजु के भीिर एक वगग बनाया गया है
वगग के शीर्ग में से एक त्रिभजु के शीर्ग से
स्पशग करिा है वगग का अधिकिम संभव
के्षिफल क्या है?
a)

𝟏𝟐𝟗𝟔

𝟒𝟗
   b)25  

c)
𝟏𝟐𝟐𝟓

𝟑𝟔
   d)

𝟏𝟐𝟐𝟓

𝟔𝟒

SSC CGL T2, 18 Feb 2018PG (simi SIT) a 
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In ∆𝑨𝑩𝑪, ∠𝑨 = 𝟗𝟎°, 𝑨𝑩 = 𝟔𝒄𝒎, 𝑨𝑪 = 𝟖𝒄𝒎. A 
square DEFG is drawn inside the triangle with 
side 𝑭𝑮 along 𝑩𝑪. 𝑬 and 𝑫 on sides 𝑨𝑩 and 𝑨𝑪, 
respectively. What is the length of the side of 
the square (in 𝒄𝒎)?
∆𝑨𝑩𝑪 में, ∠𝑨 = 𝟗𝟎°, 𝑨𝑩 = 𝟔 𝒄𝒎, 𝑨𝑪 = 𝟖 𝒄𝒎
है| त्रिभजु के अंदर एक वगग DEFG ख चंा गया है,
जजसकी भजुा 𝑭𝑮, 𝑩𝑪 के संपािी हैं| 𝑬 और 𝑫
क्रमश: भजुाओं 𝑨𝑩 और 𝑨𝑪 पर जस्थि हैं| वगग
की भजुा की लंबाई (𝒄𝒎 में) ज्ञाि कीजजए|
a)

𝟐𝟒

𝟕
  b)

𝟒𝟎

𝟗
  c)

𝟐𝟒

𝟓
  d)

𝟏𝟐𝟎

𝟑𝟕
 

ICAR, 28 Feb 2022, S3 PG (simi SIT) d 
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There is an equilateral triangle with a square 
inscribed inside it. One of the sides of the 
square lies on a side of the equilateral △. 
What is the ratio of the area of the square to 
that of the equilateral triangle?
एक समबाहु त्रिभजु है जजसके अंदर एक वगग
अंककि है। वगग के ककनारों में से एक समभुज के
ककनारे पर जस्थि है। समबाहु त्रिभजु और वगग
के के्षिफल का अनपुाि क्या है?
a) 𝟏𝟐 ∶  𝟏𝟐 +  𝟕 𝟑 b) 𝟐𝟒 ∶  𝟐𝟒 +  𝟕 𝟑

c) 𝟏𝟖 ∶  𝟏𝟐 +  𝟏𝟓 𝟑 d) 𝟔 ∶  𝟔 +  𝟓 𝟑

PG (simi SIT) a 



In a right angle triangle 𝑨𝑩𝑪, (right 
angled at B) there are two point on 
side 𝑨𝑪  such that 𝑨𝑭 = 𝟏𝟏 𝒄𝒎 
and 𝑬𝑪 = 𝟏𝟑 𝒄𝒎. There are two 
points G and D on sides 𝑨𝑩 and 
𝑩𝑪 respectively. Find the area of 
square 𝑫𝑬𝑭𝑮.
ABC एक समकोण त्रिभजु है जजसमे
B समकोण है, इसकी भजुा AC पर
दो त्रबदंु इस प्रकार हैं कक 𝑨𝑭 =
𝟏𝟏 𝒄𝒎  और 𝑬𝑪 = 𝟏𝟑 𝒄𝒎 है| दो 
त्रबदंु G और D भजुाओं 𝑨𝑩 और 𝑩𝑪
पर जस्थि हैं| वगग 𝑫𝑬𝑭𝑮 का
के्षिफल पिा करो|
a) 121   b) 169 
c) 143   d) Can’t say

7PG (simi SIT) c 



In the adjoining figure ABC is a right 
angled triangle, BDEF is a square, 
𝑨𝑬 = 𝟏𝟓 𝒄𝒎  and 𝑨𝑪 = 𝟑𝟓 𝒄𝒎 . 
What is the area of square BDEF?
दी गई आकृति में ABC एक
समकोण त्रिभजु है BDEF एक वगग है
𝑨𝑬 = 𝟏𝟓 𝒄𝒎 और 𝑨𝑪 = 𝟑𝟓 𝒄𝒎 है
िो वगग 𝑩𝑫𝑬𝑭 का क्षेिफल बिाए|
a)𝟏𝟔𝟗 𝒄𝒎𝟐  b) 𝟏𝟒𝟒 𝒄𝒎𝟐 
c) 𝟐𝟐𝟓 𝒄𝒎𝟐  d) 𝟏𝟎𝟎 𝒄𝒎𝟐

8PG (simi SIT) b 



PQR is a right angled triangle. X is a point on 
the hypotenuse. XY and XZ are 
perpendiculars drawn from X on sides PQ 
and QR such that 𝑿𝒀 = 𝑿𝒁. Find the area of 

the square XYQZ, if 𝑷𝑿 = 𝟒 𝟑 𝒄𝒎 and 𝑿𝑹 =
𝟏𝟐 𝒄𝒎.
PQR एक समकोण त्रिभजु है. X कणग पर एक
त्रबदंु है. XY और XZ भजुाओं PQ और QR इस
प्रकार लम्बवि हैं कक XY और XZ समान हैं.
वगग XYQZ का के्षिफल बिाइए अगर 𝑷𝑿 =

𝟒 𝟑 𝒄𝒎 और 𝑿𝑹 = 𝟏𝟐 𝒄𝒎 है.
a) 𝟑𝟔 𝒄𝒎𝟐   b) 𝟒𝟖 𝒄𝒎𝟐 

c) 𝟒𝟖 𝟑 𝒄𝒎𝟐  d) 𝟏𝟔 𝒄𝒎𝟐

9PG (simi SIT) a 
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Important cevians ?

1. Median (माध्यिका)

2. Altitude (शीर्ग लम्ब)

3. Angle bisector (कोण अर्गक / कोण त्रिभाजक)

4. Perpendicular bisector (सध्यविभाजक लम्ब)
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Median (माध्यिका):

1. Property:

2. Intersecting point:

3. Ratio property:

4. Location in different triangles:



AD is the median of ∆𝑨𝑩𝑪 and O is the 
centroid such that AO = 10 cm. The 
length of OD in cm is:
AD त्रिभजु ∆𝑨𝑩𝑪 की मजययका है और O
केन्द्रक इस प्रकार है की AO = 10 cm है|  
OD की लम्बाई ज्ञाि करें|
a) 4            b) 5  c) 6            d) 8

13
ACC 121 GMAT Aug 2019PG (median) b 



Two medians AD and BE of ∆𝑨𝑩𝑪 
intersect at G at right angle. If 𝑨𝑫 =
𝟗 𝒄𝒎 and 𝑩𝑬 = 𝟔 𝒄𝒎 , then the 
length of BC, in cm, is
ककसी त्रिभजु ∆𝑨𝑩𝑪 के दो मजययका
AD और BE त्रबदं ु G पर समकोण पर
ममलिे हैं| अगर 𝑨𝑫 = 𝟗 𝒄𝒎 और 
𝑩𝑬 = 𝟔 𝒄𝒎 है िो BC=?
a) 10         b) 6             c) 5           d) 3

14PG (median) a 
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𝑮  is the centroid of ∆𝑷𝑸𝑹 . The 
medians 𝑷𝑺  and 𝑸𝑻  intersect at 
right angles. If the length of 𝑷𝑺 and 
𝑸𝑻  are  𝟔𝟎𝒄𝒎  and 𝟔𝟑 𝒄𝒎 
respectively then the length of 𝑷𝑸?
त्रिभजु 𝑷𝑸𝑹 में 𝑮 कें रक हैं|
माजययका 𝑷𝑺 और 𝑸𝑻 एक दसूरे को
समकोण पर काटिे है| यदद 𝑷𝑺  और
𝑸𝑻 कक लंबाई क्रमश: 𝟔𝟎𝒄𝒎  और
𝟔𝟑 𝒄𝒎 है| िब 𝑷𝑸 लंबाई होगी?
a) 48  b) 58  
c) 62  d) 64

PG (median) b 



If G be the centroid of  ∆𝑨𝑩𝑪 
such that 𝑨𝑮 = 𝑩𝑪 , then the 
magnitude of ∠𝑩𝑮𝑪 is
अगर G, त्रिभजु ∆𝑨𝑩𝑪 का केन्द्रक
है िथा 𝑨𝑮 = 𝑩𝑪 है िो ∠𝑩𝑮𝑪=?
a) 60           b) 90              
c) 120            d) 135

16PG (median) b 
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If BE and CF are two median of a 
∆𝑨𝑩𝑪 𝒂𝒏𝒅 𝑮 is there intersection 
point. Similarly O is intersecting 
point of EF and AG. Find 𝑨𝑶 ∶ 𝑶𝑮.
यदद BE िथा CF एक त्रिभजु 𝑨𝑩𝑪
की दो माधिकाय हों िथा 𝑮 उनका
प्रतिछेद त्रबन्द्दु हो ओर EF िथा AG
का प्रतिछेद त्रबन्द्दु O हो, िो 𝑨𝑶 ∶
𝑶𝑮 ककिना होगा?
a) 𝟏: 𝟏  b) 𝟏: 𝟐 
c) 𝟐: 𝟏  d) 𝟑: 𝟏

PG (median) d 
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